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(Students may switch which quantity
goes on which axis for full credit, as long
as they apply their decision correctly.)
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Name Class
6.RP.3a

SELECTED RESPONSE 3. A cyclist was traveling at a constant
Select the correct answer. speed for 8 hours. The table below shows

1. Steel alloys are formed by mixing certain
ratios of iron, carbon, and possible other
elements. The table shows the amount of
carbon required to make certain amounts
of a particular alloy. Find the missing
value for the table.

Steel (kg) [ Carbon (g)
50 250
60 300
70
80 200
@ 3509
® 2809
@© 4209

@ 1759

the distances traveled after various times.
At the end of the trip, the cyclists
odometer read 96 miles. Which answer
could be the missing row of the table?

Time (hr) | Distance (mi)
T 12
2 24
3 36
4 48
5 60
7 84
B %6
@® (6,70
® (6.74)
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2. A certain paint color is obtained by mixing

the correct ratio of red and blue paints.
Every time a batch is made, the mixer
records the amounts of each color used.
One of the batches in the table below
was made incorrectly. Which batch
should be rejected?

Batch | Red (gal) | Blue (gal) |
4 6

2 2 3
3 12 24
4 8 12

© (6.5.78)
@ (6.5, 80)

Astudent was interested in purchasing
notebooks in bulk to get ready for school.
Three stores were offering packages of
the kind of notebook the student wanted.
The table below shows the offers from
each store. Order the stores from the
best deal to the worst deal for the
notebooks.

Store | Cost | Notebooks
A__[$16.00 10
B_[s1800 12
C_[s27.00 15

(A Store B, Store A, Store C
(® Store A, Store B, Store C
(@ Store B, Store C, Store A
(@ Store C, Store A, Store B
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Class

Select all correct answers.
5. Amusic store charges for lessons
according to the table below. If the store
charges a constant rate of dollars to time,
‘which of the following could fill the empty.
row?

Time (min) | Cost

30 524

40 §32

45 $36
a. 50 minutes for $40  OYes ONo
b. 60 minutes for $42  OYes ONo
c. 70 minutes for $56  CYes ONo
d. 90 minutes for §72  CYes ONo

CONSTRUCTED RESPONSE

6. An airport mixes an additive into its jet
fuel. The ratio of fuel to additive needs to

be kept the same. Complete the table
below for the amount of additive required

for different amounts of fuel.
Fuel (kg) [ 63 84]98
Add. (g) 30 4248

7. An engineer is investigating three
engines for fuel efficiency. The table
below shows the results of the tests for
the three engines. Which option gives the
best fuel efficiency? Why?

8. A plane was traveling at a constant speed
and went 3200 miles in 8 hours. Make a
table of four pairs of distance and time.
Then use your table to create a graph of
distance versus time.

Distance (mi)
Time (hr)

9. A caris being tested for reliability on a
track by driving at a constant speed. The
car has traveled 150 miles in 3 hours.

a. Complete the table below.
Distance (mi) 150
Time (hr) 2] 3 [4]s

b. Ifthe car breaks down 4.5 hours into
the test and has to stop for a repair
before continuing, what ratio(s) of
distance to time would be affected?
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Option [ Fuel (gal) [ Range (mi
A 24 528
B 30 690
c 2 840

. How would you expect the ratio to
change? Explain your reasoning
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6.RP.3a Answers

1.A
2.c
3.c
4A
5.a. Yes
b. No
c. Yes
d. Yes
6.

Rubric
1 point for each correct ordered pair in
the table, 2 points for a correct graph

9.a.

Distance (mi) | 50 [ 100 | 150 | 200 | 250

Fuel (kg) 63 [ 70 98 | 112

84
Additive () | 27 |30 [36 [ 42 | 48

Rubric
1 point for each correct value

7.Option B
Option A can travel 22 miles on 1 gallon,
Option B can travel 23 miles on 1 gallon,
and Option C can travel 20 miles on
1 gallon. The ratio of distance to fuel is
highest for Option B.
Rubric
1 point for the correct option; 1 point for a
correct explanation

8.
Distance

(miles) 800 | 1600 | 2400 | 3200
Timeth) | 2 | 4 | 6 | 8

Time (hr) 123 a5
b. The ratio of 250 miles to 5 hours would
change.

c. I would expect the ratio to be lower
because the car would travel a smaller
distance in one hour i it had to stop for
repairs.

Rubric

. 0.5 point for each entry in the table

b. 1 point for noting that the ratio of
250 miles to 5 hours would change

c. 2 points for explaining how the ratio
would change and why




